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1.(11 pts) Partial fraction decomposition of

327 — 2% +2
@17
should be sought in the form
(a) A N B N C ‘
a,m—l z+1 22+1 ‘%QC&!AW)
i +
' Dm B Som &= (%'» 179
w—l a:—l :1:—|-1 22 +1 Lrect? et
Z//\O*Q'( %’W“( poPs,
Ex+F Gzx+H ﬂnj - 0~\ i
x—l (93—1 33+1 (:1;-|—1 z2+1  (22+1)2 m'} SN
© erye e’
C:E—I—D l;ye'v .‘Drﬂ)()
(52
7Ot it ol e
(e)A+B+C+D+E$+F "
z—1 (z—12 z4+1 (z+1)2 =z2+1
B C

© oot




2.(11 pts) A curve is specified by parametric equations
T=1 -4, y=1t>+1 [

The equation of the tangent line to the curve at the point
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3.(11 pts) if the cartesian coordinates of a point are (—1, f 3) then all possible pairs of
polar coordinates of this point are
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4.(17 pts) Determine if the improper integral
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is convergent or divergent. If it is convergent, evaluate it.

You can use the partial fraction decomposition
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5.(17 pts) Sketch one leaf of the curve r = sin 30 and calculate the area of the region inside

this leaf.
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6.(16 pts) Evaluate
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MATH 1272
Midterm III

SOME FORMULAS

sin(A + B) =sin Acos B +cos Asin B
cos(A + B) = cos Acos B —sin Asin B
sin?(A/2) = (1 — cos A)/2

cos?(A/2) = (1 + cos A)/2

sin A cos B = 1[sin(A — B) +sin(A + B)]
sin Asin B = 1[cos(A — B) — cos(4 + B)]
cos Acos B = L[cos(A — B) + cos(A + B)]

sec’z =tan’z +1




